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Ch. =3 @ Operations on large numbers ( From Ex-3B) , Ch.- 4.
Q-1) Choose the correct option.

1. The result of multiplication is called _ @MCQUCQ, :

Factors and Multiples N

a) sum L) product  ¢) difference
2. Dividing a number by itselfis equalto '.)_L
a) 0 b) 2 Le) |
3. 284is notdivisible by 3 .
L) 3 b) 4 «¢) 2
4. In division remaining number in the end is called V%M Mﬂéf/ﬂﬁ .
a) dividend b) quotient &) remainder N
3. Which number is a multipleof 16 }12_
WA 112 b) 145 ) 95

Q-2) Fill in the blanks.
1. The result of division is called gﬂggﬁ [,Qy&
2. The Smallest multiple of a number is \(\,wmb@; ﬂo&e%
3. The number which divides is called the _ CL \/\Aog
4. Any whole number which has more than lwo factors is wo factors is called a (@mgo}ﬁﬂ:@_ V\M‘M\O@L'

3: e$0 isamultiple of every number .
(3-3) True or False :
|. The number 1 is neither prime nor composite . J__
2. Every number has at least two [actors . T
3.3907 ~ 1 =3907. o
4. 7.41.11, 5 are prime numbers . T

Q-4) Do as directed.
1. Find out the product:

2) 25739 x 1000 = 2_,5%,39,000 15795 — Q
W

2
@ - 7,9

) 607045 700 = 42 49,31, 500 l)fé

230
| - zo&L
/’/
2. Divide 480% P 60. RO 2 Fb

6Q) H¥oD ’26\\%

—’L"%Q% - 145
é — K

3. Divide : a) 458061+ 29
. ?_snﬁ\\h«\
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L stimate the sum of 4,27.609 and 2,30,54% ~

= . 20000 O
6,00, 000 | 000009
| P aneistul
Ainate the differen e 2 p 717 y ’
j . ferences of 6.44.107 and 312,404 |
0o 2y £00000
{/,DIJ‘QDO =/ ="
‘ | - 200 C’_,':
6o Write ln stiive multiples of the ¢iven numbers - ;' 200000
9 \H, 22,4y, 56, o | =
hy 17 :\F,2H, 5\, (g, 25 |
7.Write the factors of 72 .
9 2 4 £ 9 O {5 \Q A 25 y [ o
A,2,2.4,6,%,9,\2 %26 26 F2 (0 o o4
21 9 \ R | 2
Zobind the LCM of 18,36 and 24 by division method . s
LCM = axg ‘ sz, ¢ b
e = ars . = = s =
DA BA2ALDISYD o 5 U
: } 2

§

()-5) Story sums :-

o,
t I
05t of a radio st | - . JHF5
I The Cost of a radio set is 1475 .What is the cost of 35 such radio sets ? - ; S
Cosh of 4 sudic = 1475 | ﬂf:;
Codk Ef{‘ 25 yudioc = \4F5 %25 ij/.pé:;
‘ === [E1625
2. 697 boxes of mangoces can be loaded in a wagon . How many wagons are required 10 load 205
212545 boxes ? . o :,i_.
: ‘ " 2125 ‘?<5
Numlsey d% \Am%w)~ 5 Inod 6AF boxes = i -)Ac?\ it
€ 6 UAVUQ o iba.c 2125% -»—735
Number e,k Ulageus gtequ- =
= \25%5—: 697 2495
205 \Wahemis —
3. Iind the greatest numbcrfﬁ?wdcs 204 and 64 without a reminder . _

WA= gl 204 oad LU éLISZOEZB

-192
wer =k \ZJ%L, 5
-60
Iz (>
4. Four bells ring at intervals of 4, 6 , 8 and 12 seconds respectively . At what
interval will they all ring together ? oYy Q

,___,_,__,__,_,_—

s
LeM o) U6, ord 12 2|2 2. %, 6
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LCM = 2X2XZI A2
= Q_L‘
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